I.  FIND EACH LIMIT. IF A LIMIT FAILS TO EXIST, STATE THAT FACT.
IF ALIMIT VALUE IS o OR -, STATE THAT FACT.
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Hint: Let 2X° = 2X - X and split into two fractions
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4X — X, X<2

9. |iﬁg f(X) where f(X)=

18 X>2
X+4
_ x* -1 x<2
10. lim £ (X) where f(X)=
X5 3x-4, x>2

tan(x) —3cos(x), X<rx

11. lim f(X) where f (X) = 6 X> 7

sin(x) + 2

12, lim =2

Il. FIND THE x-VALUES WHERE EACH FUNCTION IS NOT CONTINUQUS.
3

3 f(x):ﬁxfgx 1. f(x) =sec(x)



15, f(x)= 16. f(x):{_ cos(x).

I. FIND THE VALUE OF k WHICH WILL MAKE THE FUNCTION CONTINUOUS.

X2 +4x+2 x<1
kx + 3 x>1

17. f(x):{

x* —sin(x) +k, X<
18. f(X)={x*—cos(Xx)—2 n<x<2rx
x> —tan(x)+k, x>2r

l111. USING A 8 — € PROOF, PROVE THE FOLLOWING STATEMENTS.
19. Im(4x-1) =7
x—2

20. lim (-3x+4)=10

x—(-2)

X<

X>7r



